Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-IV « EXAMINATION — WINTER - 2016

Subject Code: 3342903 Date: 22-11 -2016
Subject Name: Weaving Technology - 111
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q1 Answer any seven out of ten. €2H{&ll SleUQL Ulctatl welled UL 14
1.  Write objects of Jacquard.
. Bs8all Sl cAwl.
2. List the important parts of pirn changing mechanism.
2. Uol Aol AFRABUAL wdlRoll @Lololl oltioll ALEL tlotlcl.
3. Write the function of warp stop motion.
3. did R Hlete] st cul.
4. Write object of pirn changing mechanism.
¥. Ul ABol AFERBHA & AW .
5. Write any two limitation of auto loom.
W, AR giell 818 ugl A walel Al
6.  Write any two advantages of auto loom.
g, Rl gHoll 88 Ul A slAEL AUl
7. Draw the sketch of different types of card used in drop box motion.
9. QU ollsy HeletHl auRldl [@Qlw 5§ ofl 2us(@ €L
8.  Why Multiple box motions are used?
¢. H@uA ollst Halol 2l HI2 GUAoHl Aala 872
9.  Draw the sketch of hook and comber board.
¢. &5 ual 5uoR dlSell Al R,
10.  List the different types of ties used in Jacquard.
0. ®st8ul auRldl QAU ateall ysiell el slotial.
Q.2 (@) Explain Bartlett let off motion with neat sketch. 07
Ysl.? () GlRA: A2 g Malel A9 wg(A WA UMl 09
OR
(@) Explain mechanical warp stop motion with neat sketch. 07
@) B3Rsc and Ru et e wugld A UHAAL . 09
(b)  Write short note on environmental aspects in Auto loom shed. 07
() A2 GH ASHL AALERQLoll WAL UR &solltl ¢ull. 09
OR
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Write short note on locking device used in multiple box motion.
HEud ollsd H2AetHL duRndl AL Bagy u gsallu dvl,
Explain working of levelling device used in multiple box motion.

HERUuA dlsd W aletHl auRjldl Adelol Baguo(l stiuglQ anesdl,

OR
Explain working of Eccle’s drop box motion with neat sketch.

gesu Qu olls Hl2letoll stlugla 226 ausl@ W amsAl.
Explain working of single lift single cylinder jacquard with neat sketch.
Rl @se Rotct RE@s2ell stelugld 2eze9 g wd wnendl

OR
Explain working of cross border jacquard with neat sketch.

Sl o8 Bstéell sllugld e sl WA AHA AL

Explain working of double lift double cylinder jacquard with neat sketch.

soldt [@Ase soct REAs2ell slaiugld e s wd wH AL

OR
Explain working of electronic jacquard with neat sketch.

SAsARAs Bst8oll stAugld e 5[Q A A AL
Explain working of any weft feeler with neat sketch.
A8 Ul Ase Betell stlug(d 226 sl WA umesAl.

Write comparison between cop changing and shuttle changing looms.

51U ARl Aol A2 B GH cARA dslad Al

Write short note on Norwich and London tie.
ARAU A Esat 2l UR &selld AVl
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